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Note : —  Answers may be written either in English or in Hindi; but the same medium should

be used throughout the paper.
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Answer any five questions.

All questions carry equal marks.
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1. (a) Define national income. Does increase in national income always lead to an increase in

economic welfare of society ? 8
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(b) ~ Given,
NDP at market price = Rs. 25000 crores
Depreciation = Rs. 500 crores

Net factor income from abroad Rs. 1000 crores
Net indirect taxes = Rs. 300 crores
Find out :

(i) NNP at factor cost

(#) NDP at factor cost

(@) GNP at factor cost

(iv) GDP at market price

(v) GDP at factor cost

(vi) GNP at market price

(vii) NNP at market price. ' 7
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(a)

(b)
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Describe the money flows in an open economy. 8
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Briefly explain the balanced budget multiplier. 7
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What is the inveétment multiplier ? Discuss the working of the multiplier process. 9
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If C = 50 crores + 0.6Y
| I =20 crores.
() Find the value of the multiplier.

(i) By how much consumption and income will increase as a result of increase in

investment by 30 crores ? 6
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What is the net export finction ? Using aggregate expenditure and aggregate output approach,

explain the equilibrium income determination in an open economy. 15
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(@) What is money ? What are its main functions ? o 8
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(b) Discuss the key determinants c;f demand for money in an economy. 7
forell sl &, 71 @ win P wY A wRE w1 av

How do commercial banks create credit 2 What are the limits of credit creation power of

commercial banks ? 15
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What is meant by monetary policy ? Discuss the various methods used by the Central Bank

to control the money supply in an econofny. - 15
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Write short notes on any iwo : ' - 7%,7%
(a) GDP deflator

(b) Quantity theory of Money

(¢) Paradox of thrift.

frsl § W dfym feufrt fafeg .

(a) GDP SUERIfchIa

(b) TS w1 gt fagi

8084

(¢ ud & foenys|

5 ’ 1,800



	001
	002
	003
	004
	005

